
SAP ABAP table V_TZKD2 {Generated Table for View}

V_TZKD2

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SKOGRP [NUMC (3)]

SKOART [NUMC (4)]

SBASIS [CHAR (4)]

SKALID [CHAR (2)]

SZEGEN [NUMC (2)]

SBUST [NUMC (2)]

SZWKEY [CHAR (2)]

ZLSCH [CHAR (1)]

MANSP [CHAR (1)]

ZAHLS [CHAR (1)]

SKOPO [NUMC (2)]

GFZLSCH [CHAR (1)]

T000

MANDT [CLNT (3)]

 V_TZKD2-MANDT = T000-MANDT 
1

1

T008

MANDT [CLNT (3)]

ZAHLS [CHAR (1)]

 V_TZKD2-ZAHLS = T008-ZAHLS 
0..N

0..N

T040S

MANDT [CLNT (3)]

MANSP [CHAR (1)]

 V_TZKD2-MANSP = T040S-MANSP 
0..N

0..N

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 V_TZKD2-GFZLSCH = T042Z-ZLSCH 
0..N

0..N

 V_TZKD2-ZLSCH = T042Z-ZLSCH 0..N

0..N

TD21

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SZEGEN [NUMC (2)]
 V_TZKD2-SZEGEN = TD21-SZEGEN 0..N

0..N
TDZW

MANDT [CLNT (3)]

SZWKEY [CHAR (2)]

 V_TZKD2-SZWKEY = TDZW-SZWKEY 
0..N1

TFACD

IDENT [CHAR (2)]

 V_TZKD2-SKALID = TFACD-IDENT 

0..N

1

TZB09

RANTYP [CHAR (1)]

SBUST [NUMC (2)]

 V_TZKD2-SBUST = TZB09-SBUST 

0..N

1

TZFB

RANTYP [CHAR (1)]

SBASIS [CHAR (4)]

 V_TZKD2-SBASIS = TZFB-SBASIS 

0..N

1

TZK01

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SKOART [NUMC (4)]

 V_TZKD2-SKOART = TZK01-SKOART 

{0,1}

1

TZK04

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SKOGRP [NUMC (3)]

 V_TZKD2-SKOGRP = TZK04-SKOGRP 

0..N

1

TZK07

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SKOART [NUMC (4)]

SKOPO [NUMC (2)]

 V_TZKD2-SKOPO = TZK07-SKOPO 

0..N

1


